Goteborgs BF
DM-lag, Final, match 6:2

IMP 6ver féltet, 8 bord, 16 par. Antal brickor: 8.

Plac Par Poéng Namn MID
1 103 3.71 Pia Andersson - Jim Nielsen 4874 4865
2 302 2.34 Joakim Olsson - Alf Kummer 80478 13364
3 4 1.96 Carl Ek - Jan Troberg 5294 4845
4 201 1.48 Anders Brunzell - Goran Selldén 12576 4863
5 304 0.88 Lars-Ake Gustafsson - Thomas Therkelson 17359 4805
6 301 0.68 Tomas Andgren - Per Sjéberg 49953 2494
7 202 0.18 Rudi Knutson - Roger Andersson 4857 4855
8 203 0.13 Arne Larsson - Tobias Torngvist 12173 16484
9 3 -0.13 Oscar Hult - David Bryder 12879 3176
10 2 -0.18 May Moore - Bjérn Wenander 4867 4856
11 101 -0.68 Bjorn Sorling - Bo Roos 80438 13691
12 104 -0.88 Borje Dahlberg - Robin Bjorkstrand 4744 30309
13 1 -1.48 Ingemar Assarsjo - Gerhard Jérgensen 647 12288
14 204 -1.96 Lars Kennethsson - Per Jansson 17074 2485
15 102 -2.34 Goran Rydell - Ingvar Grahn 13057 5064
16 303 -3.71 Hans Eriksson - Matti Lepisto 4844 14649
9 & 7542 Bésta kontrakt 10 « KD9 Bésta kontrakt 11  EK4 Bésta kontrakt
Nord v D932 4¢ N =130 Ost v10 24 S =110 Syd v K1093 24 S =110
oV ¢ KKn Alla + E109854 Ingen ¢ E984
*K42 & ¢ v & NT #DKn3 & ¢ v & NT *K10 & ¢ v & NT
4DKn8  4K106 N 10105 7 6 4 E4 4 Kn108 N7 7587 4 863 4952 N6 6 7 86
vE10854 vKKn76 S 10105 7 6 vD vKn986543 S 7 7 5 8 7 vDKn82 vE5 S 667 86
+ 1074 + E86 0338514 +D7632 ¢Kn 06 47 44 +Knl0 ¢ KD752 O6 7656
*73 #Kn98 V338514 #EK1097 &84 V64744 D743 &E82 V776056
4 E93 476532 4 DKn107
v- v EK72 v764
¢ D9532 + K 463
#ED1065 #652 #Kn965
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
3 203 3vDV-1 ¢K 200 18.0 -18.0 2 202 2v O-1 ¢K 100 46.0 -46.0|103 303 INN+1 ¢K 120 29.0 -29.0
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2 202 49y O= 4J -420 3.0 -30 4 204 44 V-1 A 100 87.0 -87.0 3 203 6y N= #A 980 66.0 -66.0
3 203 4vO= &3 420 30 -3.0|102 302 3NO= ¢8 -600 -3.0 3.0/103 303 6vy N= &5 980 66.0 -66.0
4 204 4y V= 4] -420 3.0 -3.0 3 203 3NO+1 +9 -630 -10.0 10.0 1 201 4y N+2 «3 480 -21.0 21.0
101 301 4v O= ¢4 -420 30 -3.0|101 301 3NO+1 &#J -630 -10.0 10.0 4 204 4y N+2 &#A 480 -21.0 21.0
103 303 4v O= 5 -420 30 -3.0|103 303 3NO+1 8 -630 -10.0 10.0|101 301 4y S+2 #K 480 -21.0 21.0
1201 4vyO+1 «J -450 -50 5.0 1 201 3NO+2 ¢9 -660 -18.0 18.0(102 302 4y N+2 &8 480 -21.0 21.0
102 302 4v O+1 «T -450 -5.0 5.0 2 202 3NV+2 %8 -660 -18.0 18.0(104 304 4v N+2 #A 480 -21.0 21.0
104 304 4v O+1 #J -450 -50 50(104 304 3NV+2 +2 -660 -180 18.0 2 202 4v N+1 &6 450 -27.0 27.0
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102 302 4v S= +5 620 25.0 -25.0(103 303 3NV-1 &5 100 88.0 -88.0
2 202 54 N= ¢A 600 19.0 -19.0 4 204 2#DN-3 45 -500 16.0 -16.0
4 204 54 N= ¢A 600 19.0 -19.0 1 201 54 O+1 &K -620 -5.0 5.0
101 301 54S= +6 600 19.0 -19.0 3 203 5¢ O+1 ¥9 620 -50 50
103 303 54 S= ¢4 600 19.0 -19.0|101 301 3NO+3 v9 -690 -20.0 20.0
104 304 54S= ¢4 600 19.0 -19.0(104 304 3NV+3 ¥4 -690 -20.0 20.0
1 201 44 S+1 ¢4 150 -60.0 60.0 2 202 3NO+4 ¥8 -720 -27.0 270

Goteborgs BF, DM-lag, Final, match 6:2 , sida 1 av 2




3 203 44 S+1 ¢4 150 -60.0 60.0|102 302 4NO+3 ¥T -720 -27.0 27.0

Goteborgs BF, DM-lag, Final, match 6:2 , sida 2 av 2



